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Mathematics 2201
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Selected Response: Choose the appropriate response on the answer sheet or SCANTRON.

1. Whatis a statement that is believed to be true but not yet proven?

Conjecture

(B) Counterexample
(o) Deductive Reasoning
(D) Inductive Reasoning

2. Which is a counterexample to the statement “The sum of two consecutive integers is
always greater than each of the two integers”?

()  —4+(-5)=-9

5) 4+ (-5)=-1
(C —4+5=1
(D) 4+5=9

3. How many circles are in the 5th diagram in the sequence below:

000 ;5,005 027, %, -
OO OO o0o00D© 0% ©
O O Q DDD O'DD

st Ind 3d

Diagram Diagram Diagram
(A) 9
(B) 10
(C 14
) 15

4. If twoWnes are cut by a transversal, which pair of angles is always
equal?

(A) Alternate Interior
(B) Corresponding
Q) Supplementary

Vertically Opposite

5.  Astudent was asked to find the measure of 21. In which step did he make the first
error?

1 Solution Step1: +£3 =180° —115°
Step 2: £3 = 65°

0 Step3: ++—=23 48\243

Step4: 41 = 65°

(A)

—
@B
DWW N =

(D)
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6. How many sides does a convex polygon have if the sum of its interior angles is

N A R S
E‘]g ‘é 1440 =([6 (N3 Sro=w
(©) 8 ) r yo M\= (D
G
7.  What is the measure of £C? S Q— _ g-"\ A

(A) 20° Q
(B) 26° | [N —_
69° 0 i DQI
@) o R
\
8.  Which equals the measure of 24 ? NN Lt O c\ll-g—g

MGUS BT
. GosAZ BH &t
ALY

CosA— &gl\ Q&
s (Sraar) AT
B (:::;5) )

(A) -1

92+52—
© 1( 2(9)(5) )
92472
(D) 1( 2(9)(7) )
9.  Simplify completely: 5V7 +3v28
. = 3
@ v LGRS TNE S T
(B) 17+/7

©  11vid Rt SRES
(D) 8V35 < 53\':(_ '\"68’3(

10. Simplify completely: V=8x17

—2x2§/— \S\X \S o _
© ;xszTJ; = - AK'K'KKKEKB 3 ;’Qa
(D) 2x8Y=2x  ~ —J ﬁgﬁ&
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11. Write 3x3+/5x as an entire radical. _ & q_
o= HCx

(A) v/ 15x4 Z (=

B  Jise X ;S a

(9] 7/ 45x% = 3 —

Nl 5<'§\< ) 5 S \<
= A5 x

xV18x3

12. A student was asked to simplify but did not complete a correct solution.

Which step contains her first error?

——

xV9-2:-x2-x
Solution: Step 1: s
x-9x2%/2x
Step 2: —_—
3
Sten 3 9x3/2x
ep 3: 3
Step 4: 3x3v2x
A) 1
(BY 2
€) 3
(D) 4
5v32

13. Simplify completely:

i - Wl
@ wi ZSEE O 53

3 i
. %E = 5';3_53\ - R—LS\(O
© V% SAR o

(D) 1096 E &D&BS\B - &

12 &\E'S 3

14. What are the restrictions on the variable for Vx + 2 ? x _I__& \> O

2 X% -2

(C x =2
(D) x> 2
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15. Which represents data with the largest standard deviation?

(A) 0 %

[ = o~ o
' ' ' '
1 1 1 1

5 10 15 20
B 1
@ 0 | LMDQF G~ = M < S?VQA_

5 10 15 20

A

(D) UK

[ . o~ o
'
1

€ 10

~ = o~ oo

[ - o~ oo
' ' ' '
1 1 1 1

10I 15I 20

10 15I 20

16. The histogram shown represents the heights of hockey players on a professional
hockey team. How many players have a height between 1.8 m and 2.0 m?

i

A 10
18
2

(D) 28

Page 5 0of 13

Eastern School District



Mathematics 2201
Common Mathematics Assessment - June 2013

17.

18.

19.

A set of data is normally distributed. What percent of the data is within two

standard deviations of the mean?
(A) 475 o A | <

68 \SH ) .

95 g?‘) 3 Y g‘\ \ ‘I \ + —_—
OF  9972sn DICL NN Y - SO

The function y = —3x2 — 12x — 13 has axis of symmetry x = —2. Which
represents the function?

a=-3 [\
(A) y NG \/

UL sl s
\ =y -

Jev Le)ci <\Q\~ C\

—

() y

(33)

(D)

—

(33)

What is the domain and range for f(x) @ +1)2-37?

@ x€R and f(x) <-3 \X: ?X\XER?\

(B) x€R and f(x) >-3

©) x<-1 and f(x)ER \/<I 7\(“(&'& \\(&R’z C <D
(D) x>-1 and f(x) €ER K S
- E\\\\k\k\\'eﬂ_i ad
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20.

21.

22.

23.

.
24. Whichisarootof 2x> —5x —3 =0

A parabola has x-intercepts of (—2,0) and (—8,0). What is the axis of symmetry?

@) x=-5 —t

(B) x=-3 ~& :'J _%*Qa ._'—(Oﬁ —
Q) y=-5 | - T -~
) y=-3 oS = 9

What is the vertex of y = 2x% + 8x — 57 K:Q:—LD

-
A (—2,-29) h=—bh \/L:;U’Q) +&(—J\* Y,
(—2,-13) 3o
O g =i k=
(D) (2,19) m>— (_D_L’5>
L

The graph of a quadratic function has vertex (1, —4) and opens upward. How many
x-intercepts does it have?

A
(A)

iB;;
What is the equation of the function graphed below?
y

\ w<’——~\\7<:3
KA1zo |\ Ke= o

N E (%)

wN = O

“("Y)

(A) y=-Dx-3)
B) y=(x—-1)(x+3)
@ y=x+1)(x-3)
(D) y=+1D(x+3)

\

M) -3 A e b X% @ or Sub exc

(B) -t GNASW II\JQQ

© 1 QK(X— A
’ RN S) +a ei‘«g‘\or\ ade
>< ‘S> (A% A0 Cee W W KN QYULR(S
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25. Which represents a quadratic function with zeros of —2 and 4 and a maximum

value? m
y ¢V

(B) y Uﬂ |
\ /
U

©) ;

(D)

—

N

26. What is the scale factor in the figure below?

. E)rigin.al ....... im?ge o
”——_Dg
(A) 1
(B) 1

2
©) 2
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27. During which time period was the growth rate of CD sales the greatest in the graph

shown?

(i
"
H L
ﬁ L
] i il il il
lr

(A) 2000 - 2001
(B) 2001 -2002
2002 - 2003
(D) 2003 - 2004

28. The surface area of a cone is 34 ft2. If the cone is enlarged by a scale factor of 3,
what is the surface area, in ft2, of the image?

w  w Q¥ sale, P XKEGA

—_—

(B 102 o
/g? N X 2ol

K

“/.;:

Constructed Response:
Answers to be written on this paper in the space provided. Show all workings.

29. Use both inductive and deductive reasoning to show that the result for the given
number trick will always be the original number.

NUMBER TRICK Inductive Reasoning Deductive Reasoning

Choose a number. él__ ((-\
Double it. Y av\
Add 6. | 4 N+
Double it a% L{_V\‘\’L’a\
Subtract 4. a\AV Z{:f\“(?
Divide by 4. <O N '\’3\
Subtract 2. L\" A\
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30. Find the measure of each indicated angle. Justify your answer.

Il /
Angle Measure Justification

r= 10 vertically 0 ppuS! k ang leQ
Y=HZDD_ Coc rec D"Jo(m(_ C.V\quCQ Y

z=_d0° Sum 2t Qhalgk .gJ £r|ah§(g %“E“ Ib()

31. Use either a paragraph or two-column format to complete the given proof:

(iven: AB I DE A

:H D
e b ABC z A EDC ”“
g"'ﬂ‘kﬁ”\f’\‘l" Rquoh B E
74]’3\\ BE Qe

ARC=EC Qier-
Lﬂ(jg —/JENC O\\Jﬁrnda‘\'\lcv(or—

L ACR = LEQY \)Q‘Fjﬁ@\\\j cpposfk
ABC = AENC A AS

32. Aboattravels from Bell Island to Kelly’s Island to Little Bell Island, and returns
directly back to Bell Island. What is the total distance travelled?

S\Ag —>das e gy Q O\ \0 L _QL)L C057A\

2S00k

bt C . /%L ‘ So

G = Y8k
Total =R12S £3\knz 10 Al

[3 marks]

[3marks]

[4 marks]

A a* ‘(9:)%(3) Q(Sb)(%cos:%
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33.  Simplify completely: 5vV6 (V3 +3vV12—+2) % \5\_l [3 marks]

- SW ~32) = JJFR
~ S M%( S&B = 2aRR

— 651
= SSIR-C5n

= 353482 - S3ES
= 30353 —S-R0y
= 1053~ 106

34. State the restrictions on x, solve the equation, and then check for extraneous [4 marks]
roots.

.
T 3o K4\ O
Vax sl =3 ! rg’Z‘Y >\ — \ C‘\é((/&.'

Pxl= —an oL J3)H =3 = =
e
~ O l-%= - A

)
Foxn ) =0 -3 = - A

B)% L=\ \9\¢,_4‘\
= |-\ -
%i - \j = MD ’Su(uck‘.u,\

35. A factory produces automotive brake pads with a mean mass of 174 g and a [2 marks]

standard deviation of 0.7 g. Quality control expects that the mass of the pads
will lie within the acceptable range of 173.9 gand 174.1 g. What s the

confidence interval and margin of error this factory uses for its quality control
tests?

Confidonce Taleros\: (1.4 — (34
[ FR.a - 134z -0

(34— (F4 = 0

(V\éraiw bg ecror . TD.\
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36. Jason scored 82% on a test where the class average was 74% and the standard [3 marks]
deviation was 10.6%. If the class was normally distributed, what percentage of
the class scored better than Jason?

Z -t = XN _ k2~ 4—‘*"0'-2—5
ok

{;DM\ kble: o ’%’%14 o~ L&Y

[00°,— 11.3@/0 AN (oL% Qcosed loedle
‘H\AV\/Y“&'N\

37. A farmer has 300 m of chain link fencing to create a rectangular pen, using the [4 marks]
side of a barn as one side of the pen. Algebraically determine the maximum area
that can be enclosed by the pen.

@ au\J + £~ D
Barn @ /'\':/e.a,,\_)

Pen |L‘J /Q’:- dw 3300

4 = (20 Faady o
MaX ar; ’AV: Qu? 3800

(F5 =) (156 1= Re% g

N &‘L a( RN
Q5D m {=-25) f205 2150,

38. Algebraically determine the vertex and x-intercepts for the function
y = x%2 — 2x — 8. Sketch the graph, labelling all key points. [3 marks]

h=-b - _c-a) _ 7
S\ acly 2

k= (hLam-§ = -§
UfrW(‘\ CL\ Y_.(q’\’
X 17§ ~§ o \ i

(3% =4 :
X=-Q X=4 i

p— \ -

I LA

%

)

—

“\
"
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39. Solve the given equation. State the solution(s) in exact form. [3 marks]

SY=-4ri<y

6x% = —4x +3

B
6 x> =
& T e X = ~ &% JE IR

K= —A im\ Vo

XK= - &1L+ -
B ~ X=-2+5n

b

40. On another planet, the path of a rock that is thrown is given by [3 marks]
h = —t? + 4t + 6, where h is height in metres and t is time in seconds. At what
time(s) would the height of the rock be 9 m?

G= - gt Lo

(L 4t-6tizo T md iy Gm high
£’ 4¢+320 at s awl3s,

(€~ k- \=0

=l k=3

41.  Avalon Supermarket sells a box of 48 granola bars for $7.99 and a box of 8 bars [3 marks]
for $1.99. What is the least expensive way to buy 70 granola bars? Justify your
reasoning.

@ Q \ooyies bg AR = (_t:].ﬂﬂ\): ﬂ;(gﬁx %(- C)\(a‘,%rg
G C\ bboxes a;% = Q\(S(-C\TS:CI;(D(.“\\ for Labers

@ [ b D?Ll’% ‘(“% hayes b\C X :ﬂCﬁJf‘i(t‘ﬁc\\:i\ﬁﬁjo
O‘OJr(bV\@ > easT™ XPens: . G A bag
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Answer Sheet

Name:

Mathematics Teacher:

1 A B C D 15 A B C
2 A B C D 16 A B C
3. A B C D 17. A B C
4, A B C D 18. A B C
5. A B C D 19. A B C
6. A B C D 20. A B C
7. A B C D 21. A B C
8 A B C D 22 A B C
9 A B C D 23 A B C
10. A B C D 24. A B C
11. A B C D 25. A B C
12. A B C D 26. A B C
13. A B C D 27. A B C

14. A B C D 28. A B C



